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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry twomarks. A/l questions of Paper-1I will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(111 After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONOX NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Geography
Paper 11

[ AN
gyuteRt 11
Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains 50 multiple choice questions, each carrying
Two (2) marks. Attempt Al/ questions.

AT : A1 YA AL O 50 SgaArt geH ool oTd e IeAen g (2) U1 3R
g yee Hiea

1. Which of the wurban form | 1 3IwEgs aifeen &fsa TR TR e

models focuses on transportation S 7

arterials ?

(A) oaEe ey
(A) Sector model

B) W& W&
(B) Concentric model (B)
(C) Peripheral model (C) i e
(D) Multiple nuclei model (D) SEhad &Y

2. Global population witnessed 2. gqﬁ 200 a‘qfcg;ﬁ’ \7||J||(E'10h Qﬂoh{.i{ge,” 8|J|o||-|

(al

Gl Y R

accelerated increase approximately

200 years back due to

(A) BRA hidt
(A) Green Revolution
(B) Agricultural Revolution (B) Fofl il
(C) Industrial Revolution (C) &irenfirr st
(D) Medical Revolution (D) SEHME Shidt

3 [P.T.O.



According to Central Place theory
of settlements, hierarchy is
conceived as a systematic
arrangement of the settlements on

the basis of ....cceeeennne.... .
(A) Functional interlinkages
(B) Size of the service areas

(C) Size of threshold population,
range of the function and

nodality

(D) Flow of goods, services and

information
A suburb is :

(A) an outer commutating zone of

an urban area

(B) associated with social
homogeneity and a life style

suited to family needs
(C) the spread and growth of cities

(D) both (A) and (B)

MAY - 36216/I11—B

n

IR ST shard T FHgIaar

SRR &=l 9ga3it &A1 8.
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(B) 9a1 &3 ThRAN

(C) Y:HHT THALAT ATHIHAM,

HAET HeT 9 Tehahigddl

(D) a%], 91 9 Hifed! Ar=1 H

(A) TEEH AT w8y feRufierdi

faumm

(B) WISk AT Heiftrd o s

g Siaagdl
(C) veu= fowm 9 @@
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Find out the correct descending
sequence of continents on the basis

of crude birth rate :

(A) Africa, Asia, Latin America,

Europe

(B) Africa, Latin America, Asia,

Europe

(C) Latin America, Africa, Asia,

Europe

(D) Europe, Latin America, Africa,

Asia
The Brazilian plateau is rich in :
(A) Petroleum
(B) Iron ore
(C) Nickel
(D) Copper

The model of agricultural location
given by Von Thunen is based on

....................... technique.
(A) Normative

(B) Empirical

(C) Multi-element

(D) Single element

MAY - 36216/11—B

GEMI el SIHGUTIR AN Akl A

Aezen

(A) sTfthep1, oTfymn, offed odRET,
7

(B) aAfhent, wffeq omufienr, ofrfemam,
G

(C) oifeq smafiawt, omfthepr, oATfeTan,
G

(D) U4, ofeqd sAafiwr, snfeet,

RE AT A A RN e
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10.

A topological graph of the transport
network neither related to ................

nor direction.
(A) Index
(B) Scale
(C) Flow
(D) Axis

Which of the following is not a foot

loosing industry ?

(A) Iron and steel industry
(B) Sugar industry

(C) Cotton textile industry
(D) Rice milling industry

Two malls X and Y having equal
market attraction are equidistant in
kilometers but reachable in 15 and
25 minutes on feet, respectively.
Suresh’s decision to visit mall X
would therefore illustrate the

principle of ...................... .
(A) Distance decay

(B) Profit maximization
(C) Economic rationality

(D) Clientele loyalty

10.
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11.

12.

Overpopulation is equated with :

(A) the first stage of the
demographic cycle with high

fertility rates
(B) areas of high birth rates

(C) areas of imbalanced fertility

rates and dependency ratios

(D) with a continuing imbalance
between the numbers of people

and carrying capacity of the

land

Mac Mahon line, which was decided
between the British and the
Tibeteans as the boundary between

India and Tibet passes through :
(A) Purvanchal Himalayas

(B) Nepal and Sikkim Himalayas
(C) Kumaun Himalayas

(D) Kashmir Himalayas

11.

12.
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(A) ThEEI TRt Ufecar 3T

HHTE SeL feerdt

(B) =3 e &9
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o NN
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(A) gatsa ferre

(B) 4T aA1fur foaeniy fewrer™
(C) HAR: feue™

(D) =R feae™
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13.

14.

15.

Which of the following is not an

indicator of the cultural landscape ?
(A) Housetype

(B) Kinship

(C) Size of Settlements

(D) Transport

Genetic classification of boundaries

was proposed by .................... .
(A) Ritter

(B) Hettner

(C) Hartshorne

(D) Ratzel

The Khasis of Meghalaya Plateau
speak a language that is classified

under :
(A) Mon-Khner group of language

(B) Indo-Aryan Family of

languages
(C) Dravidian Family of languages

(D) Sino-Tibetan Family of

languages

13.

14.

15.
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(B) dEaY

(C) IR 3R

(D) S&deh
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16.

17.

18.

Who among the following gave
spatial perspective to growth pole
theory ?

(A) Francis Perroux
(B) Walter Isard
(C) M.N. Pal

(D) Boudeville

An area delineated on the basis
of general similarity of land
characteristics and occupancy is

called as :

(A) Space

(B) Landscape
(C) Region
(D) Area

The of India

division into

administrative states, districts and
blocks etcetra for development

planning is called ................... .
(A) Sectoral development

(B) Multilevel planning

(C) Micro-level planning

(D) Area planning

16.

17.

18.
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19.

20.

The regional disparities can be
narrowed down over a time

when ............... .

(A) it is ensured that the rate of
development of the backward
areas is greater than the rate

of development of other areas

(B) Preference is given to most

developed areas

(C) Emphasized for equal

weightage to all regions

(D) Allocation of less grants to

lagging areas

The minimum sales volume needed

to support a business is called :
(A) Range

(B) Core

(C) Threshold

(D) Optimum business benefit

20.

MAY - 36216/I11—B
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(A) A 9FTdTA faem™ €8 & 3
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(D) 9T IR oy
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21. Kamet peak lies closer to which of

22.

the following glacier ?
(A) Gangotri

(B) Pindari

(C) Siachin

(D) Rimo

Which of the following statement is

not correct ?

(A) The Himalayan ranges act as
a barrier to the cold winds
blowing down from Central

Asia

(B) Himalayan ranges acted as a
barrier to the free movement of

people in the past

(C) The Himalayan ranges are a
large storehouse of marine

fossils

(D) The Himalayan ranges were
formed during Hercynian

Orogeny

21.

22.

MAY - 36216/I11—B
HTHA TIRER GreAteTdent hIve fere =

TSiteh 3 ?

(A) Tisf
(B) fuertt
(C) foami=
(D) T

Ecteldeh! vl faem@ ek AT ?

(A) Tedraar=ar UM AL ARETgA

(B) Ydehtedd femTer@m=a M cliehi=an

o GORE TSI el el

(C) feurerar=a T 9l TeREE 1S
R 3T
(D) fearaa wm=n fAfddt sdfaa

~

ARSI STet
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23.

24.

Tamil Nadu receives much of its

rainfall through the .................. .
(A) South-West Monsoon

(B) Western Disturbances

(C) North-East Monsoon

(D) Tropical Cyclones

Consider the following statements :

Inundation canals are taken

(a)
out from rivers without building

any kind of weir

(b) Irrigation by this kind of canals

is more than canal drawn from

irrigation dams.

Which of the above statement(s)

is/are correct ?

(A) Only (a)

(B) Only (b)

(C) Both (a) and (b)

(D) Neither (a) nor (b)

23.

24.
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o5 Tl.
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(B) ufy=mt faefia
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25. Sequentially, in terms of cotton | 25. wMH TFEE! FeHld dF O ==
cultivation top three states are ........ . HATHH T IR
(A) Gujrat — Maharashtra —
Andhra Pradesh (A) ToA—HERIE— Y T
(B) Andhra Pradesh — Gujrat —
Maharashtra (B) 3TY Ya3—T[SId—HERI
(C) Maharashtra — Andhra
Pradesh — Gujrat (C) WRENISZ—3TY FaR1—TSIq
(D) Maharashtra — Gujrat — )
Andhra Pradesh (D) HRNSE—TSRId— Y Q¥
96. Population density map uses | 26 AREEAT FFal qhRIEET
................. type of data. TeRTCH | ST
(A) Nominal (A) AR
(B) Hierarchical (B) gfiesien
(C) Differentiated (C) Hfed
(D) Ratio (D) UM
27. If the universe has heterogenous | 27. TR WA ST agfoqel @A ™
composition, a .......cceeeeeeveennne sampling | e gfdead 9gdid Wem=
is preferred. ot S
(A) Systematic linear (A) HHeG T
(B) Stratified random (B) &g agf=ss
(C) Systematic block (C) HHdg TEH
(D) Random grid (D) If=zh S
13 [P.T.O.



28.

29.

30.

Basic aim of a thematic map
11T .
(A) To show distribution of

variable(s)

(B) To analyse the spatial pattern

that emerge

(C) To show numeric information

in visual form

(D) To show what exists and where

it exists

Which of the following is not a

measure of dispersion ?
(A) Quartile deviation
(B) Variance

(C) Standard deviation
(D) Standard score

The spatial resolution of LISS 1

SENSer Was ................... :
(A) 165 m

(B) 30 m

(C) 72.5 m

D) 5m

28.

29.

30.

MAY - 36216/I11—B

ETeATTdeh! HIUd SLIATCHS:  ThTIN

& 2 38 ?

(A) TEEn T faawor esifen

B) fmfu e 5w stefaeam
IENSERETU

(C) gifegst #Arfedt gva T@&EUN

gifey

M) &1T AR 9 d Hid AR d
ifear

ETeTeAdesh] hIUd  TTERIOMTE qiRomg

@ ?

(A) =qdes foeem
(B) W=R

(C) ywifura fererer

(D) wHIfUd Hed

LISS 1 o1 gdcsmma &g faded

(A) 165
(B) 30
(C) 72.5
D) 5

14
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31. A pair of Geomorphologist that | 31. ﬂiwwuwsiiw ST SIS 3T9eTuTH!
contributed to the concept of base SMERYA UTdes! Hheqdl dige! d
level of erosion is : w/US
(A) A. Penk and W.M. Davis (A) T T Tt S=LUdH. S=
(B) G.K. Gilbert and G.E. Dutton (B) Si.sh. Tioi&e 9 3. €A
(C) Lyell and Ramsey (C) oIa smfor {9
(D) Powell and Greenwood (D) diaa Ao iee

32. Which of the following is not a form | 32. @eltciishl hIvET TEES  fagromn
of chemical weathering ? YhR &l ?

(A) Chelation (A) faerm
(B) Oxidation (B) wEHieRTOl
(C) Carbonation (C) hIeiThIo
(D) Corrosion (D) HIEH
15 [P.T.O.



33.

34.

35.

Transverse faults along the plate

boundaries indicate .................... .

(A) subsidence of both the plates
(B) subsidence of the higher plate
(C) absense of vertical displacement

(D) uplift of both the plates along

plate boundaries

Identify the pair of landforms

produced by the glacial deposition :
(A) Cirques and Aretes

(B) Mattern Horn and Roche

Montane
(C) Eskers and Kames
(D) Sawtooth Ridges and Tarn

Which of the following is not a result

of endogenic forces ?
(A) Graben

(B) Horst

(C) Residual Mountain

(D) Rift Valley

33.

34.

35.

MAY - 36216/I11—B

a oY

HHeadiel 3TUE (transverse)

U=

oY N A

el U™ e

N

fer = Hoad ®Ege daR srona

e Siel Sfeen :
(A) feweet omfol ¥ReRee
(B) T enfor dwsfren
(C) TweRt sfn e

(D) e Tl SRAM ST Jeidrdie]
HUX

@eiedeh] Il ST e gy
TE 2

(A) U

(B) =&

(C) erafire qad

(D) TRl
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36. In which of the following types of | 36. Wcficiush! U I YHRA daran
precipitation the size of drop is less =Y 0.5 fHeiHiee e q9dar ?
than 0.5 millimeter ?

(A) S
(A) Rain

(B) o
(B) Drizzle

(C) T
(C) Hail

(D) feH
(D) Snow

37. Mid latitudinal cyclones develop in 87. WA SR ST Tqehr i

conjunction with the .................. . Teetell STe.

(A) Polar Front (A) %ﬂ?’ﬁ_&' TEE

(B) Meritime Front (B) ORI SIS

(C) Tropical Front (C) SSUThIET 3TETSt
(D) Equatorial Front (D) foveea smenet

38. Climate, where evaporation exceeds 38. ST TAHM T S IO JETAT S

precipitation and there is constant TEY ST AT O FIA SO
ater deficiency is designated b
w 1C1 y 1 lg y W aﬁ_aqﬁ. ............................ W
Koppen as .......cccceeevvvvnnnnns types of
. TaE o fHiRa & sTe
climate.
(A ¢ @ C
(B) A (B) A
) B © B
(D) D (D) D
17 [P.T.O.



39.

40.

The rate at which temperature of a

rising and expanding air parcel

decreases is called the .................. .

(A) Environmental Lapse Rate

(B) Adiabatic Lapse Rate

(C) Normal Lapse Rate

(D) Katabatic Lapse Rate

Reflection of a substance, expressed

as percentage of incident radiation

reflected is :

(A) Advection

(B) Aerovane

(C) Albedo

(D) Azores

MAY - 36216/I11—B

39. o SOME SfoT FETOr wreOnE SRy

(Air parcel) = qOHM <91 T HH B

(A) TIEROE eIl

(B) 3Tiafier (3fEiualdiehr) wuT

(C) FUEd b

(D) herddleh IS

40. weraismga gonlan At e

el Saharl TS

2.
(A) AsmRHE
(B) RiHA

(C) Aol

(D) STRY,
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41.

42.

In terms of geographical extent

the ocean deposits which has the

largest coverage is

deposits.

(A) Calcareous

(B) Globigerina

(C) Redclay

(D) Radiolarian

Which one of the following seas does

not have land boundaries ?

(A) Red Sea

(B) Adriatic Sea

(C) Sargasso Sea

(D) Aegean Sea

41.

42.

MAY - 36216/11—B

Ariiferer foeaRIgER afa fagga =

(C) TEHA

(D) festiiRem

TTATAURT HITCAT ST A

e ?

(A) dieSl TR

(B) sifgafess T3

(C) WAl 93

(D) A 995
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44.

of the wave is

determined by dividing the length

of a wave by the period.
(A) Velocity

(B) Frequency

(C) Fetch

(D) Amplitude

Lists of local winds (List I) and their
associated regions (List II) are given.
Match the List I with List II and
select the correct answer from the

codes given below :

List I List II
(a) Chinook (1) Spain
(b) Mistral (2) Russia

(¢) Solano (3) North America
(d) Burran (4) South France
Codes
@ W O @
a 36 @ GO @
B B3 @ @O @
e @ O @ O
® @ & @ @

44.

MAY - 36216/I11—B

~

My=d .

3T AN
(A) T

(B) SIRem
(C) SreAfer&i’

(D) 0T 99

TR aR (List 1) o <r=aeh freia
oW (List II) ool omed. List I &

List IT 9= St Sjesed @efiel feeiean

Hehdlehlqd ard T feren -

List I List II
(a) Fo3= (1) ¥
(b) foezen (2) e
() et (3) SW 3T
(d) 9 (4) sfEqor Wi
Wichdish :

a@ W @ @

a & @ @O @
@ & @ @O @
<c @ @O @ O
O @ & @ @
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45. Assertion (A) :

A great proportion of the residual
wilderness of India is now under

great threat.

Reason (R) :

Intensive forms of agricultural and
industrial growth lead to shrinking

of biodiversity.

Select the correct answer from the

codes given below :
Codes

(A) Both (A) and (R) true and (R)

is the correct explanation of (A)

(B) Both (A) and (R) true but (R)

is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

MAY - 36216/11—B

45. gfauras (A)

[aY ces N~ .
AT 3R Id=asiidehdl (wilderness)

SEARN HeRT 3.

aT (R)

geid FfgsR 3 sttwifie g3

AW oo

Siferenfafaeal eep= qEUAE RO
AT

@relt fooean FahdisgT I 3w
faer -

i

(A) TR (A) 9 (R) IR T ifu
(R) § (A) 9 a9 TLIRU 3R

(B) =t (A) g (R) sRIeR 3fed T
(R) B (A) ¥ I TR0 TN

(C) (A) § IR 38, 997 (R) § =
3T

D) (A) ® g 3ME, 90 (R) ¥ SN
S
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46.

47.

Match the List I and List II and
select the correct answer from the

codes given below :
List I List II

(a) Alexander von (1) Anthropo Geography

Humboldt
(b) Carl Ritter (2) Geographic Humane
(o) Friedrich (3) Cosmos

Ratzel
(d) Jean Brunches (4) Europe
Codes :

@ W O @

Aa & @ @ @
B & @ QO (@
e @ O @ O
O O & @ @
Hartshorne’s several articles

and finally the book — “Perspective
on the Nature of Geography”
was written in reaction to the work
Of o, .

(A) Ackerman
(B) Haggett
(C) Sauer
(D) Schaefer

46.

47.

MAY - 36216/I11—B

gt I & G 11 A=A Sied Sjeeadrl

Gt feoie dhdishmEd a9

il | et 11
(a) oCREIS =M (1) HEEEW e

SEl
(b e X (2) W i
(0 el (=@ (3) =wrEwE
(d S g (4)
Hichdieh :

@ W ©© (@

Aa & @ @ @
@ B @ @GO @
e @ O @ O
@ O & @ @

TRIMAD 3% @ § dd: Jwh
“oTieren wwEae gt geia @

-~

A=A R Ffdfshagd

AE T I
(A) 3THTH
(B) &

(C) ®=

(D) ¥
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48. The 1960’s approach of geography | 48. 1960 W&d Tfu&sa foaM &1 iieir=n

as spatial science was identified , HIHT g gt
with language and method of : e Ales@ell Sd ardl.
(A) Ecosystem (A) ufegzen
(B) Environment (B) Ao
(C) Geometry (C) Hfadra
(D) Landscape (D) ==

49. Who among the following remarked : | 49. f=fafeaidst Hivt qera fewoft
“We must ask the earth herself for el 7 SA9U gedtard fa=a e
her laws.” el o1 cheil IS,

(A) Humboldt (A) Eellee

(B) Ritter (B) X

(C) Ratzel (C) Tz

(D) W.M. Davis (D) T=g. . SfxH

50. In 1970s the .....cccoevreneene. school | 50. 1970 =AT TRIehIq e
approach emerged as a strong feraIRER el SeTdiel SAfHasta Feed
critique of spatial organisation FUECATH WY FHIAT TUA 3T
paradigm in Human Geography. el
(A) Regional (A) Uef¥reh
(B) Welfare (B) Aol
(C) Areal Differentiation (C) &ftg fadeq
(D) Locational (D) FeqreraraT
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ROUGH WORK
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